SEEEERE

5

« FEHE

o MHGE

 FVFUR, TU—&E

« B4EEIE 10 kHz BFL—b
cBNIEUZ7UT 4 5 um

- (REEMEE IPB7
HEEEXURA £2 mm

< BRFORERE <15 ppm/K
- BENOIRBOFEZSZ T <)
o TA—F A HERE

s AVF—T1—X : 7F0O2.3SI.CANopen.|0-Link

7 I —23avEb|

c REHE
TSATFvIHHRTE
=
WwEILT
AT

* BRAQIEDEH CDOERE

Page 1

novotechnik

Siedle Group

BIPLUS.
J)=F S ATa1—Y%
2y F L AL
HI%E & 100...1000mm

TF1 YU -2

29

50 10,2
65 10,5

o vnsn ranewmn € | / /




novotechnik

Siedle Group

T —5

SN EN
#Z (Description)
[¢) i [9) 1 (Materials) W= PIVZZOL PILRANOLE AIMgSI0.5
[l Fee, 3.3206.71
i o P —2: PAG GF30
a ® ol TIURDSVY: PIV=ZD/ G AlSi12Cul (FE)
e o 25— AR (LED): PC
! U (Mounting) SAEREIT T T (R CEIE) FoEROvN s
50 02 f.e. nut M8 DIN 439
65105 RIV3v—h— FENEIRY V3N —H—(TSAF V)
(Position marker) ASARRRY Y 3R —H— (PO IVEFCF# T a+
|-3—5-| VMITSZF W)
i BRI JxOF— M12x1, 4-pin / 5-pin / 8-pin, ¥—)LR
|JO ﬁ Ou (Electrical vonnections)
3 = FIElE (Electronic) ORI GT=ABIUORF/ND IV I CZNZNDY
—)U RBERSNTVE T, EREBTREBE DS
NcLEd,
1@ ¢ = ft5(Others) BFEEERT — 5 AR LT EELEDH2E
FLTLB
< I~ T SBEHERF(Mechanical Data)
. S T7A(Dimensions) N ERZESR
M5x20 AR HER A) ER B+ 76.5 mm
: DIN EN ISO 4762 (Lenght of housing)
5 10) ' BIWAIERGER B) 0100 ... 1000 mm (100mmcé&)
ut ©= (Electrical measuring range) ZOMICOVTEFBEEELEEV
EE(Weight) 220 +1.1 x B (in mm) g
i RREIERE (HHESH 10 ms!
@ BAIRE (HHIESHELRE) 200 ms2
S — #EShock (IEC 60068-2-27) 100 (11 ms) (single hit) g
- #&EjVibration (IEC 80068-2-6) 20 (5..2000 Hz, Amax = 0.75 mm) g

M1z REHGEProtection class (DIN  IP67 BIEI#oHE
EN 60529)
Fan(Life) AR AR L (SR AHIBR)
CEEREIRY Y3 —H—)
fEREEEHE (Operating tempe- -40 ... +85 (CANopen: -40 ... +75) °C
rature)
{#1z)RE&0H (Storage tempera-  -40 ... +85 °C
ture)
EFEE#EE (Operating humidity) O ... 95 (EEELEWVCL) %
R.H.
Mi2 EVEeE JRIIM 2DEE
Ad—F4J
5
6, 0 N4
O~ 0
7{0 © 0/3
O _ 0O

8

CAD data [FTB5h5 |
www.novotechnik.de/en/download/cad-data/

Page 2



AT (Type code) TF1-____-001-41_- TF1-____-001-42_-102
102 B
BT
ESMTER(Electrical Data)
BSWAIER (HEH B)(Electrical measuringrange) 0100 ... 1000 mm
17315 (Output signal) 0.1 .. 10V (BN >5kQ) 4 .. 20 mA (&7 <500 Q)
2% (Number of channels) 1
E3L—h(Update rate) > 10 kHz
E2 & EN(Signal propagation delay) < 1 ms
2 ##E (Resolution)
TEK B <400 mm 10 um
AR B > 400 mm 20 um
fEXFH9 — 7 U5« (Absolute linearity) < 0.025 (min. £ 100 um) +%
FS
OmDBKHIRAL 0.5 +
(Tolerance of electr. zero point) mm
B8 (Reproducibility)
EK B < 400 mm 10 um
A B > 400 mm 20 um
AU X (Hysteresis) <10 um
SRERE(Temperature error) < 15 (min. 0.01T mm/K) pp-
m/K
#HEEEE(Supply voltage) 24 (18 .. 32) VDC
HIGEBEDUY TILE <10 %
Vss
Power drain (w/o load) 2.4 W
1BEEF:E (Overvoltage protection) 36 (KAH) VDC
1BIE{REE (Polarity protection) B, RABREEFTCRE VDC
fE1E1RE (Short circuit protection) BO. ZRREIRBEF CRE.GND
@K (Insulation resistance) > 10 MQ
(500 VDC)
{ERRE
MTTF (DIN EN ISO 13849-1 > 20 Ye-
BhERAD>/NFE, w/o load, we) ars
EMC #E& 4 (EMC compatibility) EN 61000-4-2 Electrostatic discharges (ESD) 4 kV, 8
kV
EN 61000-4-3 Electromagnetic fields 10 V/m
EN 61000-4-4 Fast transients (burst) 1 kV
EN 61000-4-6 Conducted disturbances, induced by RF-
fields 10 V eff.
EN 55016-2-3 Radiated disturbances class B
& (Pin assignment)
M123x%0% AROIGET—T)b oo oo
J—k 102 (PoEHY) BE B
PIN 1 WH B FIEG 4 .20 mA
PIN 2 BN % GND(ESH) GND(ESH)
PIN 3 GN ## RIERT RIEHT
PIN 4 YE & PROG_L * PROG_L *
PIN 5 GY X 0 ..+10V ESE
PIN 6 PK # GND GND
PIN 7 BU& ZRESupply voltage EBJESupply voltage
PIN 8 RD 7% PROG _H * PROG_H *

) T4 —F A VHEEEERROMER (Y27 )LESRUCIEEW).

q3

LED #ag
LED & EYEE—RERRALED AEL Y YRTRAAT—5ALED /
#aeT A

47 TUUHEELTLEN

(BAftHa1EL)
iR w2 UEER UBEY—H—hAIEHENICHOET
Ry UBY—A—hRAERFENTT
i TUY IS REBEEHAIG. BWHESHNZFTE T,

BIREABY—HDFEULEVEE,)

ZTOMCOTHLCF ¥ a7 )LESRUTIEEN

Page 3

novotechnik

Siedle Group

it —4
7Ot

JXO—LED




novotechnik

Siedle Group

T

7FOHHE
- EE

BfIAR

HEREY AR
00 1: fEftax

BRBAIEE

BRMES
4. 7Frod

HAEST7FIOJA V5 —T1—R 4 _ _
1. BELS
2 Bt

7FO0A VI TIT—AEBELT 41_
1:0..10V
2:10..0V

7FO0A VI TT—RERET 42_

3:4..20mA
4:20 ... 4 mA
BRI

102: OxI% M12x1, 8-pin

100mMmMZC&E(TEM 7/ 0100mMmHS 1000mMmET

BEBAEDEVICKDT —IILDEREGFEUENTLIEE L,
U= )URT =D IVODEREHERELE T .

Page 4




novotechnik

Siedle Group

mRIvayv—h—

S FRARY YT —h—  Z-TF1-PO]
@ catzon 23 TIHERERE A 0..4mm
6. 502 0 "'%"‘ 31 it 1.5 mm
= LS g A 49..53mm
& 9 | ) (M= B)
! 9 Perm. lateral +2 mm
O offset
) ES 7] PAB GF30
i #¥40¢g
P/N 400104343
Y23y R—A—FmAEICEDITHT
ENTEFT .

HARNERYYav~w—h—  Z-

— TF1-P02
n electrical zero point %*Z POM
- = som  gme BEEDFM 8, BEF
M5, 10 deep, rotation 18°
S 5’ = #eog
= o P/N 400104344
= ) RIYsR—H—FEHEICEDH2T
| EDTEFT,
(41) 437
84,7
BARMFERY Yz —h— Z-
e TF1-PO3
‘. electrical zero point ?*ﬁ POM
‘ai e 5 MBIOR =EEE 18 BREBDFRM &%, JInAvF
—=“—= M5, 10 deep. vertical rotation 18°
A:,_ 5‘ s #Weog
_...E P/N 400104345
I3 N—H—FmABICEORITHT
= EDTEFT,
(41) | 26
67
o FARRERIYZR——
TSN L Z-TF1-P02/-P0O3
Z-TF1-P02 22 22
. M\['_' B3] FILEZOL
(rey WL F ’4--'1—';:__‘ I ——— o B #1560 g
i ____!_5 = 7 EER (mm) 0075,0100, 0125,
f = i DIN ISO 12240-4/ K s 0150,
\ - 0200, 0250, 0300,
ROV o ’W‘\ ST 0350,
vy PoSton mateer 9| f ZTP1-S01- 0400, 0450, 0500,
e = = -l - 0600
S .
L T 0800, 1000, 1500,
HER (mm) 2000

Z-TP1-801-

Page 5



novotechnik

Siedle Group

JxxI4%9 M12

Pin assignment MI12x1 XX RT% . 8EV  ARU—H A
1=8 I—RE—IURT—DIUAE S—)URf
> 2=% =IP67. A —TVIUR
4 o) 6 3=#
o“o 4= TROINIIVT TSAFv PA
3 OOOOO 7 gfﬁ F—IIY—2  PUR; @ = max. 8 mm
S -25°C..+80 °C (7))
g | 58— % 50 °C..+80 C (EE)
DA v7— PP, 0.25 mm?
1P67|| UL C H-H-H)) Ea wx PN
2m EEM 33-86 400005629
5m EEM 33-90 400005635
10m EEM 33-92 400005637
Pin assignment M12x1 X20%0%.8E Y. BEME AD
5 1= —RE—ILRT—D),
2=3% U= URSE P67 A—T VIR
4 o) 6 3=i
o) c o R TROENIIVS TSAF v PA
3 OO OO 7 5=k 7—J)b¥—Z  PUR: @ =max. 8 mm,
g = -25 °C..+80 °C (I8
2 g1 A -50 °C..+80 °C (BE)
JAt7— PP,0.25 mm?
IP67|| UL C HH+))) R g PN
2m EEM 33-87 400005630
5m EEM 33-91 400005636
10m EEM 33-93 400005638
1954815 IP67 to DIN EN 60529 HHHD 3ERSIC RGBS (EMC) &
S JURYRF L5
P68/ RS P68 to DIN EN 60529 '\' FA) =S EBRITHL
SERICEN DD
CAN-bus @ UL - RGH
10-Link RSvIFT—FRICER
EAREEEE, TSP OV ISNRRETDH BN T,
BESIRIE CREZFEAT O5G(E. R T ONENDDET,
BEESHEVEHE
st — - 7R I35
T 355-0311 HERLEEINIEIEA 2452-5
TEL : 050-3386-5880
FAX : 0493-81-4771
T EDBHNSIE. FEHEBTIHANBOFT, FHTTRIZEL, Mell - Inside-sales@b-plus-icp
) E— - PR - TIRIFE SRTOZIHOARICBITDRIBIETT . D618203Aj]  2018.03.26

The specifications contained in our datasheets are intended solely for informational purposes. The documented specification values are based on ideal operational and environmental conditions and can
vary significantly depending on the actual customer application. Using our products at or close to one or more of the specified performance ranges can lead to limitations regarding other performance
parameters. It is therefore necessary that the end user verifies relevant performance parameters in the intended application. We reserve the right to change product specifications without notice.

Page 6



